2.4.xa. Exercise answers

The answers below avoid the use of Cnj in order to maximize the
use of the rule Adj. In some cases, a mixed use of the two would
have produced a more natural argument.

1Adj [AAA X, (2)
[}
2QED|AArA
2. AArB 1
BAC 2
BAD 3
1Ext |A (4)
1Ext |B
2 Ext |B
2Ext |C
3Ext |B
3Ext |D (4)
4Adj |[ArD X,/(5)
[ ]
5QED|(AAD
3. ArB 1
1Ext [A (2),(3)
1Ext (B (2)
2Adj (BAA X,(3)
3Adj ([AA(BaA) X,(4)
[}
4QED|[AA(BAA)
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BaAC 1
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1Ext |B (2),(4)
1Ext |C 3)
2Adj [BrA X,(3)
3Adj [CA(BAA) X,(4)

4Adj [(CABAANAB X(5)

5QEDEA(B/\A))/\B

AAB 1
1Ext [A (2),(3)
1Ext |B 2
2Adj [BrA X,(3),(4)
3Adj [AA(BaA) X,(4)

4Ad] [(BAA)A(AA(BAA) X(5)

5QEDE§AA)A(AA(BAA))



